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1. Not compound noun
A) sunscreen
B) sunset
C) sun sea
D) sunrise

2. Adverb of place
A) Suddenly she stopped to check his letters.
B) I often forget to visit my granny.
C) His project is always supported by his colleagues.
D) We like going there on weekends, | mean the national park.

3. The right order of the passive sentence
1. on British roads
2. too fast
3. motorists
4. are often caught
5. who drive
6. by speed cameras
A) 3-4-1-2-5-6
B) 3-6-1-2-4-5
C) 3-5-2-1-4-6
D) 3-6-2-1-4-5

4. The right form of the Infinitive
It’s great ... them doing that.
A) see
B) seeing
C) to see
D) to seeing
5. Adjective of the noun “frustration

A) frustratingly
B) frustrate
C) frustrating
D) frustratious



6. Correct construction

Animal Agriculture
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Crop Agriculture

The government ... to make a strong connection among three spheres: crop
agriculture, animal agriculture and people.
A) were going
B) are going
C) is going
D) going
7. Correct form of comparative degree
A) | can drive as good as my father.
B) I can draw as well as my sister.
C) Tigers are as more dangerous as lions.
D) Betty is the less hardworking than Kate.
8. Complete the sentence with an appropriate word

A healthy diet can help to ... heart disease.
A) exercise
B) treat
C) increase
D) prevent
9. Correct form of the Gerund
She is interested in ... romantic novels.
A) to read
B) to reading
C) read
D) reading



10. Compound adjective

A) greenhouse
B) ex-president
C) kind-hearted
D) successful

11. The correct question
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| used to buy stationary in this supermarket.
... to buy stationary in this supermarket?

CLASSROOM OBJECTS IN ENGLISH
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A) Do you use ...
B) Did you used ...

C) Do you used ...

D) Did you use ...

The right variant of conjunction

There aren’t enough bins, ... | think we need more.
A) because

B) so

C) though

D) but

Relative pronoun

This is the place ... the accident happened.

A) when

B) where

C) which

D) what

Correct preposition

He doesn’t participate ... online games.

A) on

B) in

C)to

D) by

Correct relative pronoun

George Clooney ... is in the film Gravity is very handsome.
A) whose

B) who

C) this

D) which
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Do you smoke?

Did you know the UK government are trying to pass a law banning
branding on packs of cigarettes. If they are successful tobacco manufactures will
be forced to sell their cigarettes in plain packets. The motivation behind this
decision is to make smoking less appealing to people.

A similar law was passed in Australia in 2012 that has resulted in a fall in
smoking rates from 15.1% to 12.8% for people aged 14.

As of January 2015, 22% of adult men and 17% of adult women smoke in
Great Britain. The likelihood of smoking in the UK increases with age so that by
15 years of age 8% of school children are regular smokers.

Impressionable children, it is thought, will be less attracted to cigarettes
sold in unbranded boxes. The average price for a packet of cigarettes is now
£7.98, according to the Tobacco Manufacturers’ Association. About 77 per cent
(£6.17) on a packet of cigarettes is tax. In 2013-14 the UK government received
£9.5 billion in revenue from tobacco tax.

Smoking is the biggest cause of preventable deaths in England.

Every year 80,000 die and over 450,000 are admitted to hospital due to
smoking. This places a large strain on the health service and is also a factor in why
the government wish to prevent people from taking up smoking or help them quit.

16. The UK government want to make smoking ... .
A) criminal
B) against the law
C) legal
D) unattractive
17. Correct answer according to the text
More women than men smoke in the UK.
A) Not mentioned.
B) Yes, there is true information.
C) Maybe, I’m not sure.
D) No, it is contrary.
18. The meaning of the word plain in the first passage
A) simple
B) attractive
C) beneficial
D) problem
19. The main aim of banning branding on packs of cigarettes?
A) Not to provide treatment for tobacco dependence.
B) To make smoking less appealing to people, especially children.
C) To decrease the percentage of non-smoking adolescents.
D) To reduce the prevalence of smoking among female adults.



20. Choose the best answer
Why does the proposal primarily target children?
A) Restricting the sale and display of tobacco products.
B) To implement plain packaging and smoke-free outdoor areas.
C) To protect them from tobacco industry marketing.
D) Non-smoking generation is the key to healthy population in the country.



